43605 43607
43606 43608

@Roca- Original ROCO-Ersatzteile

C€ ) Original Roco Replacement Parts

gy [ AN Text 2 E aﬁa—'
1 85072 Motor kpl. f, 43605 - 43608 99
Motor assy. f. 43605 — 43608
2 85614 Haftring 0,3 mm
Traction tyre 0,3 mm
3 B5670 Schraube M 2x4 2
Screw M 2x4
4 B5672 Schraube M 2x6 2
ScrewM2x6
5 85704 Schraube M 2x2,8 5
ScrewM2x2,8
6 86202 Feder 2
Spring
7 86418 ZahnradZ=17 2
GearT=17
8 86419 | Schneckenzahnrad doppeit 4
Worm gear double
9 86704 Schnecke 5
Worm
10 86859 Schneckensatz kpl. 24
Worm set assy.
11 87013 | Kardangelenk 2
Cardan joint
12 87015 Kardanschale lang 3
Cardan bearing long
13 | 87073 | Kardanwelle 4
Cardan shaft
14 87123 Kardanwelle kurz 3
Cardan shaft short
15 87128 | Kardanhiiise 5
Cardan collar
% 87129 Kardanschale kurz 3
Cardan bearing short
17 | 89246 | Standard Kupplung 5
Standard coupling
18 89266 Kupplungskammer 3
Coupling chamber
19 89913 Radkontakt 5
Wheel contact
20 90506 Radsatz 17
Wheelset :
21 | 90507 |Radsatzm.1Haftreifen 18 siehe Blatt 228/1
Wheslset w. 1 tract. tyre see Page 228/1
22 90508 Radsatz 0. Zahnrad 1B )
Wheelset without gear . —®
23 | 94843 | Drehgestelideckel 8 eSS
Bogie frame cover
24 | 94658 | Drehgestell Akpl. 55
Bogie frame assy. A
25 94659 Drehgestell B kpl.
Bogie frame assy. B
26 | 94660 | DrehgestellMittekpl. 1—@
Bogie frame assy mididlie
27 94663 Getriebateil 12
Gearpart
28 | 94664 | Getriebeboden 12
Gearbottomn
94665 Getriebedeckel 10
Gaar cover
94666 Gewicht 12
Ballast
Kil 94674 Zuristbeutel f. 43605 - 43608 18 =
Bag withaccessories ﬁ——@
1. 43605 - 43608
32 94675 Zuriistbeutel Griffe, . 10
43605, 43806, 43607
Bag with accessories hande, ‘-@
f. 43605, 43606, 43607
33 94676 Zuristbeutel Griffe, f. 43608 18
Bag with accessories handle,
f. 43608
34 94679 Schneckendeckel 3
Worm cover Drehgestell Mitte kpl. (0. Abb.)
Bogie frame assy. middle (na ill.)
Zuriistbeutel f. 43605 — 43608 (0. Abb.)
Bag w. accessories f, 43605 — 43608 (no ill)
Zurtistbeutsl (Griffe) f. 43605/-606/-607 (o. Abb.)
Bag w. accessories (handlg) f. 43605/-606/-607 (no il
Zurtistbeutsl (Griffe) f. 43608 (0. Abb.)
Bag w. accessories (handig) f. 43608 (no ill)
Blatt 228/2

Page 22872



